4 PEAKTRONICS MK T-119A

ASSEMBLY DIAGRAM

Actuator Controls Mounting Kit

Noah NA15, 19, 28, 38, 50, 60, 80, 100, 150, 200, 250 Actuators

STANDARD
CONTROLLER

| MOTOR

@\CAPACITOR

If required, remount motor capacitor to H
terminal strip bracket as shown above.

MINIATURE
CONTROLLER

CONTROLLER INSTALLATION

www.peaktronics.com

PEAKTRONICS, Inc. 1363 Anderson  Clawson, Ml 48017  Phone (248) 542-5640 FAX (248) 542-5643 800-179C page 1




MKT-119A

ASSEMBLY DIAGRAM Noah NA15, 19 Actuators

(3) Switches maximum
(w/standard controller)

(2) switches maximum
(w/miniature controller)

w/miniature controller

ONLY \

ACTUATOR

www.peaktronics.com
PEAKTRONICS, Inc. 1363 Anderson Clawson, Ml 48017 Phone (248) 542-5640 FAX (248) 542-5643 800-179C  page 2



MKT-119A

ASSEMBLY DIAGRAM Noah NA28, 38, 50 Actuators

(5) Switches maximum

(3) Switches maximum
(NA28 w/miniature controller)

ACTUATOR

www.peaktronics.com
PEAKTRONICS, Inc. 1363 Anderson Clawson, Ml 48017 Phone (248) 542-5640 FAX (248) 542-5643 800-179C  page 3




MKT-119A

ASSEMBLY DIAGRAM Noah NAGO, 80, 100, 150, 200, 250 Actuators

(5) Switches maximum

ACTUATOR

www.peaktronics.com
PEAKTRONICS, Inc. 1363 Anderson Clawson, Ml 48017 Phone (248) 542-5640 FAX (248) 542-5643 800-179C  page 4




MKT-119A

ITEM

Sr}3Xa—IOTMMOO®T>

not shown
not shown
not shown
not shown
not shown

QTY

1
1
1
1
1
1
2
5
1
1
4
2
1
2
2
1
1
2

KIT CONTENTS

DESCRIPTION

actuator bracket

adaptor plate (for NA60, 80, 100, 150, 200, 250)
8mm/1.25mm x 50mm socket head cap screw
8mm/1.25mm x 40mm socket head cap screw
8mm/1.25mm x 30mm socket head cap screw
8mm/1.25mm x 12mm socket head cap screw
#6-32 x 0.75" pan head screw

#6-32 x 0.375" pan head screw

#6-32 keps nut

8mm split ring lockwasher

#6 split ring lockwasher

0.787" nylon spacer (0.562" O.D.)

0.394" nylon spacer (0.562" O.D.)

16" red wire

16" white wire

16" blue wire

16" black wire

6.3" nylon tie wrap

www.peaktronics.com

PEAKTRONICS, Inc.

1363 Anderson

Clawson, Ml 48017 Phone (248) 542-5640 FAX (248) 542-5643

800-179C page 5



MKT-119A

uolow Jorenide

N3dO
0
0 IO (c)
ON &) 13T0IA ®
LINIT3SO1D
0
2 o
ON Q) NMOYE © ®© 35010
LIAIT N3dO SVAYZ
@ ang
) D© © NOWINOD
e a3y
JDVAIZ
T
@ 0 a3y © © N3dO
7\
©) Movg ®
duis euiwle) Jornide
80T-9L1LIN
D00T-NaVv

Jofenide Jojow sseyd 11ds DV AYZ
© 31| p91]0.1u02 8q 01 Jorenide DAAYZ
e SMO|[e 8INPON DA 01 DV D00T-INAY 8y L

Si01enPY 8¢ ‘6T ‘STVN UEON

NVHOVIA ONIHIM

41NAOW Od 031 DV

g
&)
&
5
g

:
AN
3
=)
a
g
o
&
Lo
AN
&
)
<
o
(&)
c
o
<
o
N~
—
(@}
&
s
3
3
O

800-179C page 6

1363 Anderson

PEAKTRONICS, Inc.



MKT-119A

ONILOV ISHIAN3IY

uolow Jorenioe

N3dO
z
g
2@ ang
o)
3 |© JLIHM
=
Q
@a © a3
2

duis euiwe] JoEenoe

@ ndino Avz+
ONILOV 10341 @ aND TYNOE
uonow Joenide ©® (01 2v/2Q) N3O |
® (071 0v/0Q) 3S010 mo_mccmw
© (IH OV) N3dO . B
N3dO © (IHOV) 3S010 ~
© NOWNOD N3dO |
® NOWWOD 3SOT0 -
@ REN ® ® aND HLuvVA |
® TN © © ETNREA
oD anTa O, © IVALNaN T
c ar

VEOT-INY DVAPES
E0T-INV DOVALIT

SI0eNPY 0SZ ‘00Z ‘0ST ‘00T ‘08 ‘09 ‘0S ‘8¢ ‘8¢ ‘6T ‘STVN UEON

Sd3110d1NOD 440/NO OV

NVHOVIA ONIFIM

g
&)
&
S
g

:
AN
3
=)
a
g
o
&
Lo
AN
&
)
<
o
(&)
c
o
<
o
N~
—
(@}
&
s
3
3
O

800-179C page 7

1363 Anderson

PEAKTRONICS, Inc.



MKT-119A

800-179C page 8

Clawson, Ml 48017 Phone (248) 542-5640 FAX (248) 542-5643

1363 Anderson

@ ndino Apz+
ONILOV ISHIAIY ONILOV 1O3HId a GND TYNOE e
8
uolow Joreniie uoljow Jorenie @ AOl_ O<\ODV N3dO m
C
(e}
® (0712Vv/0Q) IS0 speubis =
@ +| lonuod [ w
(IH OV) N3dO o
N3dO N3dO © (IHOV) 3S0T10 W
® NOWWOD N3dO
@ NOWWOD 3SO10
> >
m G@ anig m G@ a3y ® ® ANS HL1¥V3
< <
W S W 5
AR _m@ JLIHM AR _m@ JLIHM © © INIT T
o o
® KRE ® LT
o® a3y o® ERRE ®© © IVa1NaN 21
c cr
‘Bullim DOOT-INAY 89S "Pa|[eIsUl 8INPON Od 01 DV

D00T-INAY Ue Yylim Jorenide DAAPZ e sesn uoledljdde siyl 310N
de0T-INVY DVAYZ

SI01eNY 82 ‘6T ‘STVYN UBON ANVYHOVIA 9ONIFIMN

d31T1041LNOD 440/NO DVAYC

PEAKTRONICS, Inc.



MKT-119A

ONILOV ISHIAN3IY

ONILOV 10341d

uolow Joreniie

N3dO
d
W @ N9
W_N @ 31IHM
M @ a3d
°

dins euiusel Joenioe

uonow Jofenioe

N3dO

a3y

31IHM

) NOWWOD

© ©® Q

N4

ans @

(feuondo)
HOLIMS 13534
IVNY3LX3

o

13534 )

) LNdLNO 3SOTD

) LNdLNO N3dO

IvHLN3AN -

AN Q+——

VOOT-1SV DJVAvrEC
00T-1SV OVALTT

SioenY 82 ‘6T ‘STVN UeON

SY3NIL IONINO3S IV

NVHOVIA ONIFIM

g
&)
&
5
g

:
AN
3
=)
a
g
o
&
Lo
AN
&
)
<
o
(&)
c
o
<
o
N~
—
(@}
&
s
3
3
O

800-179C page 9

1363 Anderson

PEAKTRONICS, Inc.



